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JTSK SOURADNICE (HRANY VOZOVKY)

JTSK SOURADNICE - SO 201 (P-piloty, Z-spodni hrana zdi)

¢ X Y X Y ¢ X Y X Y X Y X Y
1 X=-588608.88 Y=-1076005.69 28 | X=-588047.02 Y=-1076317.97 95 | X=-588520.38 Y=-1076037.18 82 | X=-588084.02 Y=-1076300.40 109 | X=-588042.34 Y=-1076327.63 136 | X=-587827.93 Y=-1076470.56
2 X=-588602.97_Y=-1076007.62 29 | X=-588041.64 Y=-1076321.50 56 | X=-588513.23 Y=-1076039.26 83 | X=-588050.02 Y=-1076322.57 10 | X=-588048.11 Y=-1076326.54 137 | X=-587791.43 Y=-1076481.12
3 X=-588593.60 Y=-1076010.16 30 | X=-588032.31 Y=-1076327.67 97 | X=-588467.34 Y=-1076052.37 84 | X=-588044.68 Y=-1076326.08 11| X=-588043.51 Y=-1076329.39 138 | X=-587789.03 Y=-1076482.31
4 X=-588573.16 Y=-1076015.94 31 X=-588024.00 Y=-1076332.87 98 | X=-588453.62 Y=-1076056.40 85 | X=-568019.38 Y=-1076342.82 12| X=-588029.54 Y=-1076328.89 139 | X=-587792.52 Y=-1076483.09
5 X=-588518.83 Y=-1076031.90 32 | X=-588004.96 Y=-1076345.46 59 | X=-588423.28 Y=-1076065.55 86 | X=-588019.52 Y=-1076343.03 13 | X=-588023.75 Y=-1076331.95 140 | X=-587788.99 Y=-1076485.02
b X=-588511.71 Y=-1076033.97 33 | X=-587994.42 Y=-1076352.70 60 | X=-588417.62 Y=-1076067.57 87 | X=568001.63 Y=-1076354.86 114 | X=-588004.24 Y=-1076344.82 141 | X=-587742.57 Y=-1076505.34
i X=-588465.83 Y=-1076047.09 34 | X=-587994.18 Y=-1076352.86 b1 X=-588376.54 Y=-1076075.45 88 | X=-587989.52 Y=-1076362.45 15 | X=-587997.08 Y=-1076350.21 142 | X=-687742.31 Y=-1076505.12
8 X=-588452.04 Y=-1076051.14 35 | X=-587992.31 Y=-1076354.08 62 | X=-588376.58 Y=-1076075.95 89 | X=-587899.37 Y=-1076420.92 16 | X=-587998.80 Y=-1076357.48 143 | X=-587736.34 Y=-1076507.82
g X=-588421.70 Y=-1076060.28 36 | X=-587896.57 Y=-1076416.18 63 | X=568358.41 Y=-1076076.71 90 | X=587887.62 Y=-1076428.63 17| X=-587990.22 Y=-1076363.11
10| X=-588415.86 Y=-1076061.73 37 | X=-587893.63 Y=-1076418.09 64 | X=-588352.41 Y=-1076076.39 91 X=-587825.23 Y=-1076469.73 118 | X=-587985.31 Y=-1076365.18
K X=-588361.81 Y=-1076070.09 38 | X=-587893.54 Y=-1076418.15 65 | X=-588334.36 Y=-1076076.34 92 | X=-587761.58 Y=-1076504.69 19 | X=-587983.80 Y=-1076366.16
12| X=-588361.77_Y=-1076070.09 39 | X=-587882.68 Y=-1076425.30 66 | X=-588323.36 Y=-1076076.86 93 | X=-587722.01 Y=-1076522.46 120 | X=-587985.82 Y=-1076365.95
13 | X=-588344.54 Y=-1076070.37 40 | X=-587882.59 Y=-1076425.36 67 | X=-588271.51 Y=-1076094.00 94 | X=-587716.20 Y=-1076524.98 121 | X=-587984.31 Y=-1076366.94
14 | X=-588344.44 Y=-1076070.37 41 X=-587822.20 Y=-1076465.14 68 | X=-588262.37 Y=-1076100.15 95 | X=-587707.87 Y=-1076531.24 122 | X=-587923.30 Y=-1076405.40
15 | X=-588334.38 Y=-1076070.34 42 | X=-587759.33 Y=-1076499.67 69 | X=-588263.57 Y=-1076106.72 96 | X=-587696.63 Y=-1076535.45 123 | X=-587919.52 Y=-1076407.85
16 | X=-588323.38 Y=-1076069.76 43 | X=-587745.73 Y=-1076505.78 70 | X=-588253.27 Y=-1076106.32 97 | X=-587690.05 Y=-1076535.66 124 | X=-587924.33 Y=-1076406.99
17| X=-588267.26 Y=-1076088.32 44 | X=-587744.01 Y=-1076506.00 71 X=-588250.04 Y=-1076108.74 98 | X=-588236.74 Y=-1076122.36 125 | X=-587920.58 Y=-1076409.48
18, | X=-588258.78 Y=-1076095.34 45 | X=-587734.59 Y=-1076510.23 72| X=-586246.18 Y=-1076111.93 99 | X=588233.03 Y=-1076126.53 126 | X=-587897.99 Y=-1076423.46
19T | X=-588246.75 Y=-1076104.33 46 | X=-587719.55 Y=-1076516.99 73 | X=-588237.53 Y=-1076118.71 100 | X=-588229.98 Y=-1076126.38 127 | X=-587898.00 Y=-1076424.90
20 | X=-588242.59 Y=-1076107.13 47 | X=-587714.00 Y=-1076519.40 74 | X=-588227.86 Y=-1076127.11 101 | X=-588228.14 Y=-1076127.54 128 | X=-587892.18 Y=-1076428.73
21 X=-588196.12 Y=-1076154.04 48 | X=-587708.55 Y=-1076519.19 75 | X=-588226.48 Y=-1076128.39 102 | X=-588227.80 Y=-1076127.17 129 | X=-587889.42 Y=-1076418.68
22| X=-588192.31 Y=-1076158.19 49 | X=-587697.29 Y=-1076523.34 76 | X=-568199.88 Y=-1076157.69 103 | X=-588226.82 Y=-1076128.76 130 | X=-587888.39 Y=-1076418.36
23 | X=-588183.80 Y=-1076170.23 90 | X=-587688.05 Y=-1076527.63 77 | X=-588196.68 Y=-1076161.53 104 | X=-588077.02 Y=-1076304.97 131 | X=-587884.83 Y=-1076420.53
24 | X=-588135.34 Y=-1076242.24 o1 X=-588610.44 Y=-1076011.62 78 | X=-588188.36 Y=-1076173.30 105 | X=-588075.51 Y=-1076305.95 132 | X=-587884.84 Y=-1076421.14
25 | X=-588131.14 Y=-1076247.86 92 | X=-588604.37 Y=-1076012.94 79 | X=568139.90 Y=-1076245.32 106 | X=-588077.52 Y=-1076305.74 133 | X=-587829.66 Y=-1076466.82
26 | X=-588086.69 Y=-1076291.67 53 | X=-588595.04 Y=-1076015.47 80 | X=-588136.28 Y=-1076251.32 107__| X=-588076.01 Y=-1076306.72 134 | X=-587826.74 Y=-1076468.74
27| X=-588081.02 Y=-1076295.79 o4 | X=-588574.71 Y=-1076021.21 81 X=-588090.07_Y=-1076296.87 108 | X=-588046.86 Y=-1076324.64 135 | X=-587830.86 Y=-1076468.63
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¢ X Y
P1_ | X=-588347.33 Y=-1076069.49
P2 | X=-588346.02 Y=-1076069.87
P3| X=-588344.02 Y=-1076069.87
P4 | X=-588341.27 Y=-1076069.86
PS5 | X=-588338.52 Y=-1076069.85
P6 | X=-588335.77_Y=-1076069.84
P7__| X=-588333.02 Y=-1076069.77
P8 | X=-588330.28 Y=-1076069.62
P9 | X=-588327.53 Y=-1076069.48
P10 | X=-588324.79 Y=-1076069.33
P11 | X=-588322.01 Y=-1076069.26
P12 | X=-588319.20 Y=-1076069.34
P13 | X=-588316.40 Y=-1076069.50
P14 | X=-588313.61 Y=-1076069.74
P15 | X=-588310.82 Y=-1076070.06
P16 | X=-588308.05 Y=-1076070.47
21| X=5688267.26 Y=-1076088.32
72 | X=-588347.82 Y=-1076068.74
Z3 | X=-588346.76 Y=-1076070.27
74 | X=-588346.55 Y=-1076069.47
Z5 | X=-588334.37 Y=-1076070.24
26 | X=-588334.41 Y=-1076069.44
Z7 | X=-588323.40 Y=-1076069.66
78 | X=-588323.42 Y=-1076068.86
29 | X=-588315.03 Y=-1076070.01
210 | X=-588314.98 Y=-1076069.21
Z11 | X=-588306.74 Y=-1076071.10
212 | X=-588306.57 Y=-1076070.17
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